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NESHEII 2N (2D-LINEE ESCe 123 70,000 0 70,000
A oMM Y MBI JIE OHY)
Xl 70,000
101 @124 8| 20,000 0 20,000
Xl 20,000
04 J12ZEMZ22 RS2+ 20,000 0 20,000
OAEEZX 9,200
Xl 9,200
OZHQIR 9,016
Xl 9,016
O©ZtAlH| 736
Xl 736
OHARHIUUEESE S) 1,048
Xl 1,048
201 YEr2 ] 2,000 0 2,000
Xl 2,000
01 At 22l bl 2,000 0 2,000
OANREES S 7Y 2,000
Xl 2,000
202 (44l 3,000 0 3,000
Xl 3,000
01 =LHOYI 3,000 0 3,000
OQAlE 7 &I 3,000
Xl 3,000
207 A0 15,000 0 15,000
Xl 15,000
03 A& A 2 H| 15,000 0 15,000
OZX, HlE, =%, sXM S(208) 10,000
Xl 10,000
OAlIS & EXIIF S(108) 5,000
Xl 5,000
308 KX SHH SO0l 30,000 0 30,000
Xl 30,000
10 SO 2SOICHEH Z & X T AL B 30,000 0 30,000
OCrel MEYEY 2 Jlsd & &l 30,000
Xl 30,000
AsA2 BAIIE HL(SYHYSL/ 5D - &) 577,899 815,193 A237,294
Xl 219,000
& 358,899
BHFEN & NFSE 235 480,006 703,678 N223,672
Xl 219,000
= 261,006
g EE A4 40,128 43,513 A3,385
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04 JI2ZtHMZ2REES 12,028 13,238 A1,210
OAEEZX 5,500
OZHOR 4,116
OZ2tA] 332
OHFRHIUUEER) 2,080
201 2 EH2HH| 4,600 4,761 A 161
01 At 2t2lbl 4,600 4,761 AN 161
O8X AEXZHE JX= 2,000
(OFpIRIpN= 600
OagaH= A=K 1,000
OXZ M| 1,000
202 ¢4l 10,800 12,684 AN1,884
01 =L YI 10,800 12,684 AN1,884
OELSHAANEATR =& 10,800
207 A2 12,700 12,830 2130
03 AlE & 1H| 12,700 12,830 2130
OZX, HE, =%, sXM(103) 4,000
OAlY & E=XI|F(155) 8,700
SZME =8t=sg o7 13,312 15,068 A1,756
101 214 4] 7,312 7,950 2638
04 JI1ZtHMZ2Z2REES 7,312 7,950 2638
OANEEX 3,000
OZHOR 4,312
207 Ao 6,000 7,118 A1,118
03 A8 & 2| 6,000 7,118 A1,118
OZX, HE, =%, sXMH(8E) 3,118
OAlY & EXIIR(6F) 2,882
A s 2 Hz E 24 9,000 10,247 AN1,247
101 1A 4] 5,250 5,750 A500
04 J1Z2tHZ22RESE+ 5,250 5,750 A500
OANEEZX 5,250
202 044l 750 900 2150
01 =LHOYI 750 900 A 150
OzBA 0 L B2 DARA =7 750
207 Ao 3,000 3,597 ANDB97
03 A& & H| 3,000 3,597 A597
OFLIII A28, 2HAANA(5E) 3,000
DA NE=sYS /s EL Sehatel 24357 49,566 56,850 AT,284
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SA - E . Ch (3 ) Ol &t e =2
101 2124 4| 33,166 37,699 A4,533
04 J12ZEHIZ22 XS E 33,166 37,699 A4,533
OANEEX 28,800
O E St 900
OF = 300
oYdRL31U4UEE 3,166
201 LBt 800 968 A 168
01 At 22l Hl 800 968 A 168
QAR ES 800
202 ddl 2,300 2,900 A 600
01 2 LHOYI 2,300 2,900 A 600
OAlEAR =& 2,300
207 A E Y| 13,300 15,283 21,983
03 A& & I 13,300 15,283 21,983
OAl, Hlg, s 13,300
NHEEFHSI WL (=2 1- 50,000 50,000 0
XSS ASsHIT)
Xl 50,000
101 eI244| 35,000 33,000 2,000
Xl 35,000
4 D12 22 NSES 35,000 33,000 2,000
OZHOR 33,075
Xl 33,075
oYY 3 (44 1,925
Xl 1,925
201 23| 500 1,000 A500
Xl 500
01 At 22|l 500 1,000 A500
OMNEES 500
Xl 500
202 ddl 3,000 4,500 A 1,500
Xl 3,000
01 S LHOYI 3,000 4,500 21,500
OANEARFA 3,000
Xl 3,000
207 A0 11,500 11,500 0
Xl 11,500
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OANBEX 12,500
X 12,500
O¥gaRYz(4UEE) 2,500
X 2,500

202 o4l 1,200 2,400 A1,200
X 1,200

01 2ol 1,200 2,400 AT1,200
OAlgHz =& 1,200
X 1,200
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X 149,000
T 149,000
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X 75,000
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01 A& H] 150,000 239,000 289,000
OHATHE 2H XS & 150,000
X 75,000
T 75,000

405 XhakF SH| 148,000 268,000 120,000
X 74,000
T 74,000

01 ML =S F S 148,000 268,000 120,000
OstdsgA2E & 148,000
X 74,000
S 74,000

detd sHdsE 2AMA A+ 97,8393 111,515 13,622

2 Holls gMlls A7 16,175 17,587 AT,412

101 2124 5,375 5,843 A 468
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OANEBEZX 3,200
omgelR 1,764
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202 o4l 5,600 6,000 2400
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207 A 5,200 5,744 A544
03 Al & 1HI 5,200 5,744 VANSYZ)
OBX, HIZ, 5, SXM(9S) 2,600
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03 Al & 1] 10,300 12,313 A2,013
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OHARHIUUHEESZ) 2,493
207 A0 | 3,200 3,349 A 149
03 Al 3t 3,200 3,349 A 149
OAl% & =X 3,200
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403 MRS S K201 A 192,000 229,000 A 37,000
= 192,000
01 AXSHMA2E R 192,000 229,000 A 37,000
O=JIH Ed&Hl X2 (128) 192,000
= 192,000
et s SBI=X (=) 410,000 208,550 201,450
= 410,000
308 At XISHHMSOIH 410,000 208,550 201,450
= 410,000
01 IXEHBEAELS 410,000 208,550 201,450
OUsPs ASAHE 2H(4Mn) 400,000
= 400,000
OMIIE AZ AMEST 23 XA (11L) 10,000
= 10,000
sl gage 235 35,000 36,000 A 1,000
201 Yer2 et 14,000 14,000 0
01 At 2teltl 14,000 14,000 0
OsEXNT &Yt HEeg S 8,000
OsEXNZAZII=AHE, 20M HE 6,000
202 044l 21,000 22,000 A 1,000
01 S LHOYI 10,000 11,000 A 1,000
O=sEXNTAMY =& 10,000
04 =HIat0dbl 11,000 11,000 0
Od&l=g= o= 11,000
Se=s)t3gs4(310) 478,000 540,000 A62,000
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o= 25,000
201 YEr2 ] 42,000 50,000 A8,000
= 21,000
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01 AFR 22l bl 40,000 50,000 A 10,000
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= 1,000
< 1,000
202 044l 5,000 6,000 A1,000
= 2,500
< 2,500
01 =20 YI 5,000 6,000 A1,000
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= 25,500
= 59,500
Cl=FSE = =S 15,000
= 4,500
= 10,500
201 229y 170,200 0 170,200
= 51,060
= 119,140
01 At 2telHl 60,000 0 60,000
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2 1,000
S 1,000
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= 1,000
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= 2,000
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= 2,000
= 2,000
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= 11,800
= 11,800
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= 11,500
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= 16,000
& 16,000
02 Ut HAHBE X 32,000 32,000 0
Ok 4-H=R 23X 32,000
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308 AtXIEHMSOIE 140,400 74,400 66,000
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4H3l |4 141,100 125,316 15,784

201 2Er2gY| 12,000 17,000 A5,000

01 At 22l 10,000 10,000 0
O824 HE WS & N WAt HFA 10,000

03 A2 S HI 2,000 7,000 /5,000
O4-HEAI2 S 2,000

202 04H| 6,000 8,000 22,000

01 =UWo 6,000 8,000 22,000
OststHH WA = 6,000

206 M =l 1,000 3,000 A2,000

01 =4 1,000 3,000 22,000
O4-HUtMuE ME 1,000

301 2etE &= 10,000 16,000 26,000

09 HAIAHIE &S 10,000 16,000 26,000
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307 212tol & 10,000 10,000 0

02 QIZtB A E X 10,000 10,000 0
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o= 2Y 245 9,330
S2EsYUHR2Y 84 38,800 50,000 A11,200
201 Yer2 ] 8,800 10,000 A 1,200
01 At 2teltl 8,800 10,000 A 1,200
O5AATE SANSK 2S 6,800
OsANTE DM, HHAT 2,000
301 et ag 10,000 20,000 A 10,000
09 HAAHIE &3 10,000 20,000 A 10,000
OsIPE HAYS WX 2 10,000
308 XX/ €I S0/ & 20,000 20,000 0
01 RASHBNEES 20,000 20,000 0
OB=soNE AANLX 20,000
SEUENY EE 14,000 19,553 A5,553
=gl 88 14,000 19,553 A5,553
201 YEr2 ] 10,000 9,553 447
01 At 22l 10,000 9,553 447
OsAINEERE ATE, BEFHIEL S 8,000
OsEFE 22IAHE HA 2,000
202 ¢4l 4,000 5,000 A 1,000
01 S LHOYI 4,000 5,000 A 1,000
OslE EEAMY = 4,000
HION U YESH ISV (SPHYS/5Y - 5&) 8,567,760 7,795,835 791,925
2 4,576,460
N 2,808,000
= 1,203,300
H2BP OEE L2 5,187,600 4,481,400 706,200
= 3,840,000
X 1,170,000
= 177,600
AIEE2Ag(=21) 3,840,000 3,497,500 342,500
= 3,840,000
403 THXI €+ S XH2 0| & 3,840,000 3,497,500 342,500
2 3,840,000
01 AXESHMA2E R 3,840,000 3,497,500 342,500
QLI I=ES A 3,840,000
2 3,840,000
2 22 D= 177,600 183,900 6,300
201 2 EH2EHI 15,000 14,000 1,000
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01 AtR2t2ltl 13,000 10,000 3,000
OtDI=E2 AMEAMY =& 13,000
02 3323l 2,000 4,000 A2,000
OLDI=Ea AMEAMY =X RQUESYES 2,000
202 044l 6,000 4,000 2,000
01 =LHOYI 6,000 4,000 2,000
024l B2 JI=X& 6,000
403 MRS S K201 A 156,600 165,900 9,300
01 AXISHMA=2E L 156,600 165,900 9,300
OdlEsd NEEH SHEI =4 AlY 30,000
OzI1ZE HE W5 AlE 60,000
OXMZ MM B ZESD THHHAIE 54,600
OHIZZEZE H Moz AlY 12,000
Tot Bes B JIBEA(21) 1,170,000 800,000 370,000
Xl 1,170,000
403 XX H M S X201 & 1,170,000 800,000 370,000
Xl 1,170,000
01 [XISMA2E X 1,170,000 800,000 370,000
OXNSEAZ XS IS (14HL) 1,170,000
Xl 1,170,000
ASH=Z FHEHN JIsEs 772,000 492,000 280,000
NS SSAY 2435t 600,000 300,000 300,000
403 MRS S K201 A 600,000 300,000 300,000
01 [XISMA2E X 600,000 300,000 300,000
OXZE3AY 43t 600,000
AEARE =4 J=Xd 172,000 192,000 A20,000
201 YEre | 15,000 0 15,000
01 AFR 22l bl 15,000 0 15,000
odEstx=E B4 JI=X& 15,000
202 044l 6,000 4,000 2,000
01 =LHOYI 6,000 4,000 2,000
oNEeA=E |4 SXJI=XE 6,000
403 MRS S K201 A 151,000 188,000 A 37,000
01 AXISHMA=2E L 151,000 188,000 A 37,000
OZISHoIA THHHA S AlY 30,000
O= At 21 SHHMOHAIAE JIs AlY 24,000
OZAMM H&HHZ AF3 A 30,000
OJlsd AMHA THHH 2SAIY 27,000
OFTAUHE Mgle Z& THHHEXIZAE Al 40,000
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< 253,700
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= 2,000
< 2,000
01 At 2teltl 4,000 0 4,000
OELEAE S U= HII=X2 4,000
= 2,000
< 2,000
202 044l 18,000 18,000 0
= 9,000
< 9,000
01 =LHOYI 18,000 18,000 0
OELZE S =8 HI =X 18,000
= 9,000
T 9,000
308 At XIHHSO0IH 295,000 242,500 52,500
= 295,000
01 IXESHBAEES 295,000 242,500 52,500
oNstd ==Y 295,000
= 295,000
NS = S48 JIsX(=1) 1,638,000 1,849,000 A211,000
Xl 1,638,000
403 XIS AHE01 A 1,638,000 1,849,000 A211,000
Xl 1,638,000
01 AXISHMA=2E L 1,638,000 1,849,000 A211,000
OXNS=d SESAL (10002 ) 1,638,000
Xl 1,638,000
s HzII=XE 231,200 228,295 2,905
201 Yer2 | 15,000 10,435 4,565
01 At 2teltl 1,000 10,435 AN9,435
OFEII=XE A =& 1,000
02 5323l 4,000 0 4,000
OAHLEY, MoliXtg sAEHl 4,000
03 A2 Z I 10,000 0 10,000
OE ZgzdE 2 10,000
202 044l 4,000 4,000 0
01 =L YI 4,000 4,000 0




=PI
) FFord 2 425 V=X (sgiLst/sy - sE)
¢l 2= &I XD A8s (&2l &)
SA - F SR (EH) - NPAY - BYS 0l & o e DS
Og=8Z% H2JI=X& 4,000
301 LB A= 1,000 2,000 A 1,000
09 SAtAHIE A S 1,000 2,000 21,000
ozgLe = 1,000
308 XHXISHMSOIH 163,200 91,560 71,640
01 XSS AEES 163,200 91,560 71,640
ol E=F 2313 MR 88,200
QUM MEFNLELS SH 75,000
403 XA XA SX=01 48,000 120,300 AT2,300
01 "XIESMAEE X 48,000 120,300 AT2,300
OAlE LIHF E2el & S2YM 18,000
O0dds =2 ¥= 4ol =4 AME 30,000
goils I J=X(=1) 433,960 450,100 A16, 140
= 426,460
= 7,500
201 et 8,000 0 8,000
= 4,000
=S 4,000
01 At 2t2/H| 8,000 0 8,000
OgdE ZELM AIE K& 8,000
= 4,000
= 4,000
202 044l 7,000 0 7,000
= 3,500
= 3,500
01 SLHO B 7,000 0 7,000
OgdE ZELM AIE X & 7,000
= 3,500
= 3,500
308 NtAIEMSO0IE 394,960 450,100 255,140
= 394,960
01 UAXSHMB L EXS 394,960 450,100 A55,140
OYollE ZH, Gz, 2EEL S 2 (16AIZ) 394,960
= 394,960
403 A XISHHSX=01H 24,000 0 24,000
= 24,000
01 AXISHMA=E XL 24,000 0 24,000
ORUSEZEY HEANAY 2= 24,000
= 24,000
E2Y =20d335 2Z(21) 8,000 12,000 24,000
= 4,000
=S 4,000
201 et 4,000 2,000 2,000




SN slsd
HE: HYON U YES JISNV(SHYH4/5Y - 5E)
el s 8&I|e XD &85 (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
= 2,000
& 2,000
01 At22t2ll 4,000 2,000 2,000
O3=E g4z 29 4,000
= 2,000
T 2,000
301 Lt s = 4,000 5,000 1,000
= 2,000
T 2,000
09 At HIE &= 4,000 5,000 1,000
O3=E sgod+s g5 24 4,000
= 2,000
S 2,000
SENANIKNBE(SYHY S/ 58 - 52) 4,285,188 3,677,770 607,418
= 802,500
X 3,150,000
= 332,688
SEEHSA 2,977,200 2,632,664 344,536
= 752,500
X 2,200,000
& 24,700
AIIEESAE(2D) 347,500 315,000 32,500
= 347,500
403 MHRIEHSA201A 347,500 315,000 32,500
= 347,500
01 XM= E X 347,500 315,000 32,500
Otlls=Ea A 347,500
= 347,500
sSEALESESEE(S1D) 1,800,000 1,600,000 200,000
X 1,800,000
308 AtXIEHMSOIH 1,800,000 1,600,000 200,000
X 1,800,000
01 HIXHMBYELS 1,800,000 1,600,000 200,000
Os&2d =0t |4 1,800,000
X 1,800,000
sHAMHH L (=12) 410,000 160,000 250,000
= 405,000
S 5,000
201 2Er2gY| 7,000 6,000 1,000
= 3,500
T 3,500
01 At 2telHl 7,000 6,000 1,000
OsHYAMEA M2 2Y 7,000
= 3,500
S 3,500




=PI
By SENANNSE(SYHSSL/5Y - 5E)
ol =EEABEX (=R
A" G(3) - MPAY - B Ofl &t e HIDE2
301 L8 a3 3,000 1,000 2,000
= 1,500
& 1,500
09 HAAHIZ &3 3,000 1,000 2,000
O=sXZgotdEAH 2R 23 3,000
= 1,500
& 1,500
403 XXM S X201 & 400,000 50,000 350,000
= 400,000
01 AXSHMA2E T 400,000 50,000 350,000
OXN2Y UEH EBR AWAY 400,000
= 400,000
SEASHINSHHOI M XA (Z1) 400,000 525,000 A125,000
Xl 400,000
308 AHXISHHSOI&E 400,000 525,000 A 125,000
Xl 400,000
01 AXHMBLAEES 400,000 525,000 A125,000
O=s&Y S#ANMA HOoIZEH X2 400,000
Xl 400,000
SEME 243 XA (X)) 19,700 32,664 212,964
201 LB 12,000 12,000 0
01 At 22l Hl 12,000 12,000 0
O=ZE MEXRFAZ One-Stop EHAE3 X 12,000
202 ddl 7,700 20,664 212,964
01 SLHOYI 7,700 20,664 212,964
O=sZEMe gdst =& 4,700
O=Z& METIAY One-Stop &A= X 3,000
SENHEE &S5 1,129,000 878,500 250,500
Xl 950,000
= 179,000
sAMNEIS - MEJI=sE2(=1) 950,000 765,000 185,000
Xl 950,000
403 XX S S X201 & 950,000 765,000 185,000
Xl 950,000
01 XX EM A 22 X 950,000 765,000 185,000
Os4&E I3l BE=XI& 625,000
Xl 625,000
OsENEls BE=XE 75,000
Xl 75,000
OfXt&rY =22 H AlY 250,000
Xl 250,000
sZEMEgs g4t 94,000 62,000 32,000
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A s
2 SENEOIISE(SEHY /5 - 5F)
ool SEQI S (S91:&8)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
308 At XIHHSOIH 32,500 32,500 0
= 32,500
01 IXEHBAELS 32,500 32,500 0
Os&E0ded d4uUs 7,000
= 7,000
OCtYst Rl & 2ZW= 25,500
= 25,500
sSENWY dg2s 91,488 67,106 24,382
201 Y EH2 ] 21,000 0 21,000
03 HAH2ZHI 21,000 0 21,000
ORM243 it 2= 21,000
206 M2 dl 1,000 0 1,000
01 M= 4l 1,000 0 1,000
ORM243 MEINHE 2REZHE 1,000
301 et azg 3,000 0 3,000
09 HAAHIE &3 3,000 0 3,000
ORM243 d2iidde 2= 3,000
307 QI2+0I A 9,000 9,670 AB70
02 QB AMAHEE 9,000 9,670 2670
Os&E0d sgiHeg X& 9,000
308 AtXIHHSO0IH 57,488 57,436 52
01 IXEHBEAELS 57,488 57,436 52
OsE04d H2X B2 46,688
Os&ENd s"ieg X& 10,800
AZ3 Jlzsu=s 2s 20,000 20,000 0
201 2 EH2HH| 17,000 14,500 2,500
01 AFR 22l bl 14,000 10,500 3,500
O=&EXE HMXNEN WS 14,000
02 23224l 1,000 1,500 A500
OAsH AME2Y, JtAH S 1,000
03 A2 HI 2,000 2,500 A500
OsZENE HYXNE W= 2,000
301 Yt A= 3,000 4,500 A 1,500
09 EAtAHIZE A= 3,000 4,500 A 1,500
OsENE AMXNEX W= 3,000
HH2H AL (sLI1=2)(IIEHIIE) 9,425,367 8,410,566 1,014,801
oIz 2d| 9,115,485 8,140,820 974,665
S5& o8l X 7,879,803 7,294,599 585,204
101 eI24 4] 7,670,643 7,092,699 577,944




SN

T WHSAAH(SLIIER) OIEHIIEH
&l
CHEB L ESI(SN) - NRAY - BES 0l &t e
01 2= 7,670,643 7,092,699

oJles 5,906,447
o=s 5,458,290
-H = 80,411
U= 6,700,910& x1&~12& 80,411
- BHA 5,377,879
= 4,075,300& 2" «128 97,808
= 3,134,800 x3H 123 112,853
3,211,500& x13F +12& 500,994
2,380,500 x9H 122 257,094
1,918,400& x5« 12& 115,104
4,814,4003 «18&x 128 1,039,911
3,364,4003 «51H «12& 2,059,013
4,743, 5003 «7H*128 398,454
3,161,300 =218 ~128 796,648
Oad= 448,157
-E2 5,377,879,000& *1/12 448,157
o+ 956,037
O=E 93,840
-t Xt 40,000% *103E x12& 49,440
-RUIE 20,0002 «185H + 128 44,400
OXNHSHIEZ= Y 38,557
-1Ss 419,090 x23H +43| 38,557
OF2xEIHt=3 153,840
-256E 014 130,000& x40 123 62,400
-20E 01 &f~25 018 110,000& +50H <122 66,000
-158 0l &f~20= 0] &t 80,000 «7Hx122 6,720
-108 0l &f~15= 018t 60,0003 16«12 11,520
- 5@ 0la~10= 018t 50,0003 =122+ 12& 7,200
Ag2R=4 48,000
-3 50,0003 80«12 48,000
OSSR+  217,808,000& *4. 1%+ 122 107,162
ORHSRHA+E 50,0003 «5H * 128 3,000
OS=g2=sd 102,360
-Jl=8E=H 36,120
- 6,72 30,0003 ~9H 122 3,240
- 8,98 20,0003 14122 3,360
60,0003 «7H*128 5,040
50,0003 ~21H+12& 12,600
30,000 +33H 122 11,880
—HRAR 80,000 69 «12& 66,240
Oozely 61,843,000 122 7 .8% 57,886




SN s
A HY2ITH(SSII=-)(OIEH/IIEH
chel: ol ey (=R
SA - F SR (EH) - NPAY - BYS 0l & o e DS
OE==X28+¢ 9,840
=X 40,0002 »7H*12& 3,360
=N 30,0003 «18H+12& 6,480
OAZ228e+E
9,3323 122 +25A| 2tx 128 341,552
OFHUZAHI 130,000 x900H 122 140,400
O™ E =il 5,377,879,000& *1/12%120% 537,788
O It &thl 129,971
OdEH
80,411,000 1/ 12x78%*86%x*1/30%x 10 1,499
Oz =H
5,377,879,0002 1/12%86%+*1/30% 10 128,472
204 [ 2 =AHH| 209,160 201,900 7,260
02 =2 Xl 209,160 201,900 7,260
0622 650,000 x 1122 7,800
©4= 400,000 x10E 122 48,000
Ob55 250,000& x10H * 122 30,000
6= 155,000& x53H « 128 98,580
or= 140,000& x11H« 123 18,480
08-92 105,000 x5H 122 6,300
ASHAAMY 249,213 165,504 83,709
101 @1 244 249,213 165,504 83,709
03 RIAHAZZAE 5 249,213 165,504 83,709
0Jl23 (MZaRH) 117,947
@)= 1,638, 1403 x6H 122 117,947
o+ 127,666
odt=s 1,638, 1403 x6& 42 39,316
oda=¢ 117,946,080 »1/12+35%*22] 6,881
OAA2R4Y
11,4553 +150%+6H 20 Al 2tx 128 24,743
Ogxtrasst=E 91,6443 ~6H *152 8,248
OgE =t 117,946,080 »1/12+50%*22] 9,829
O=4ldl 130,000 x6H x 122 9,360
Ou S| 80,0003 «6H *12& 5,760
OnE=e 1,200
- < Xt 40,0002 »2H + 128 960
-2&IHE 20,0003 «1H*128 240
OEERE= 223,281,220& *10% 22,329
O=AHI 3,600,000 3,600
2O AIESEP2ALS 489,136 341,940 147,196
101 @1 244 489,136 341,940 147,196
03 RIAHAZZ A2+ 489,136 341,940 147,196




S SYIlsH
F: HY2HZHI(sLII=3)(OIEHIIE)
chel: ol oyl (=L R0
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
QJl2s 228,615
(@)1= 1,587,600 x12H 128 228,615
OES=s 253,321
O&0= 1,587,600& 12 x43| 76,205
(OFSF=tal= 577,0423 x 128 23] 13,850
ONEEL RS
133,450 *150%*20A| 2t 122 48,042
Odxsasits=d 87,2503 x12H 15 15,705
OFE=FIH 1,587,600& 12 19,052
O=4ldl 130,000 x12H 123 18,720
Oun sl 80,0003 «12H +12& 11,520
Onse 5,760
—-bi 2 Xt 40,0003 8« 123 3,840
-SUIE 20,0003 x8H «12& 1,920
OUXERESUUHEET) 444,667,060 *10% 44 467
O=U0l 7,200,000& 7,200
SEsY AMEAHIAY 415,341 285,845 129,496
101 @124 8| 415,341 285,845 129,496
03 RIHAZZ2NHE > 415,341 285,845 129,496
OJIEZ (AMPA2H) 193,697
OF=r= 1,614, 1402 x 10 128 193,697
o=¢ 215,644
O&u= 1,614,140 «10H *43] 64,566
(OFS It =
1,614, 1402 x1Z+1,614, 1403 »7Z «90%+ 1,61 12,752
4,140 x2H »30%
OAA2R+Y
11,3023 *150%* 10H 20 Al 2t+ 122 40,688
(ORE PN I= =l E=, 90,4203 *10H 15 13,563
OEE =St 1,614, 140& /2x10Y +23] 16,142
(@F=xal] 130,000& x10H « 128 15,600
Oun sl 80,000 «10H 122 9,600
OF =R 5,520
-t Xt 40,0003 x5H 128 2,400
-SAIE
20,0003 9 «12&+80,000+ 1 128 3,120
OHAERLS(4UEEZ) 372,128,0002 *10% 37,213
O=LH0bI 6,000,000& 6,000
X201 AAS 37,061 26,602 10,369
101 214 4] 37,061 26,692 10,369
03 RIAHA2ZRHE 37,061 26,692 10,369
oJlz2s 17,323




2A sII=H
A HY2HAH(sLII=|)(IIEHIIE
Chel: Q2| (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
o=2 1,443,540 18 12& 17,323
OES=s 19,138
O&u= 1,443,540 +4 3| 5,775
OF S et 1,443,540 x15%*23] 434
OANZe 2R+
10,2143 150%*20 Al 2t 128 3,678
OdxsaEsitsd 81,7122 = 1H 15 1,226
OEEFIHI 1,443,540 +50%+ 14 23| 1,444
Oz 4l 130,000& x1Z + 123 1,560
OuEHl 80,000 1E 1204 & 960
Ons=e 720
- X 40,0003 1«12 480
- BAINE 20,000& x 19~ 12& 240
OHERES 33,404,656 *10% 3,341
O=U0Yl 600,000& 600
si=2 HolE oE datHel 44,931 26,240 18,691
101 2124 8| 44,931 26,240 18,691
03 RIHAZ 2R E 44,931 26,240 18,691
OJI2=s(HEEXH) 21,248
o=2 1,770,640 18 12& 21,248
(OE3=4 23,083
O&u= 1,770,6403 100%* 1H 43| 7,083
O&2+4 1,770,640 *35%+ 14 23| 1,240
OAlztel=g
12,3002 *150%*20 Al 2H+ 1H x 123 4,428
Oextsasitsg 98,400 x1H + 15 1,476
OgE S It 1,770,640 *50%* 1H «23| 1,771
Oz 4l 130,000& x1H 124 = 1,560
(@JmE={] 80,0002 *1H =121 & 960
OF == 40,0003 1B« 1204 & 480
OHEXE= 40,846,000 *10% 4,085
O=L0l 600,000 600
Jl23dtl 309,882 269,746 40,136
N29 Jl2Zdl(E21) 126,311 120,705 5,606
201 Yer2 | 18,671 14,720 3,951
01 At 22|l 16,071 12,120 3,951
ORNM2F AtR22|H] 16,071
02 2323l 2,600 2,600 0
ORN2E SS23H| 2,600
202 Odl 8,400 6,785 1,615
01 =20 YI 8,400 6,785 1,615




=PI
A HY2HAH(sLII=|)(IIEHIIE
chel: J123d| (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
OFRM2E SN 8,400
203 R F&H] 47,640 47,600 40
01 J|2#2FHRF&HI 22,000 22,000 0
O#E 10,000
CEE, 12,000
02 ZRAMAHRFEIH| 3,440 3,400 40
O&HAINZ 3,440
04 EN2Z LR 22,200 22,200 0
©15¢2! 0lat 250,000 6K ntx 123 18,000
©30¢! Olat 350,000& *1JH =123 4,200
204 MR AY| 51,600 51,600 0
01 MG HRHAHH| 51,600 51,600 0
OFFss 650,000 x1H 12 7,800
o=% 600,000& x2F 122 14,400
onE 350,000 x7H«12& 29,400
EA2Y JI2dE(HSsA2D) 28,433 23,100 5,333
201 LB 18,233 15,300 2,933
01 AFR 22l bl 18,233 15,300 2,933
OFAMN2E AtR22|H| 18,233
202 oddl 10,200 7,800 2,400
01 =LHOYI 10,200 7,800 2,400
ORMEY 240t 10,200
EA2Z JI238 (A0 A2D) 20,637 20,363 274
201 YEr2 ] 12,237 11,363 874
01 AbS 22|l 12,237 11,363 874
ORANM2F AtR22|H| 12,237
202 (44l 8,400 9,000 A 600
01 =LHOYI 8,400 9,000 A 600
FA2E =0 8,400
PARE J2dt(gE s 21,438 17,853 3,585
201 YEr2 ] 13,338 11,955 1,383
01 At 22|l 13,338 11,955 1,383
OFN2E AtR22(H] 13,338
202 (44l 7,200 5,898 1,302
01 S LHOYI 7,200 5,898 1,302
ORAM2E SUHAHYI 7,200
405 XH&HE SHI 900 0 900
01 MAR = SF=HI 900 0 900




SN sYIEE
o HHSAAH (SIS @) (OIEIIE)
el D= | (Brol:®2)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
| owam) 900
e L IDIEETIIONE-PIE Y 19,254 17,258 1,996
201 2t | 11,454 10,108 1,346
01 At2 22l bl 11,454 10,108 1,346
ORM2E A2/ 11,454
202 01t 7,800 7,150 650
01 2Lho1 | 7,800 7,150 650
ORME 240t 7,800
SN2 Jl2ZHl(0IsE=M) 22,380 13,275 9,105
201 2 EH2EHI 11,380 10,000 1,380
01 At 2teltl 11,380 10,000 1,380
ORN2Y ARt 11,380
202 01t 6,000 3,275 2,725
01 2401l 6,000 3,275 2,725
ORN22 2] 6,000
405 XHatE S 5,000 0 5,000
01 MRS S HSHI 5,000 0 5,000
O= A (1CH) 5,000
SNSY JI2TH (MEX D) 12,949 9,292 3,657
201 2t | 7,599 6,650 949
01 At22t2lbl 7,599 6,650 949
ORNRY ART2IY| 7,599
202 01t 4,200 2,642 1,558
01 201l 4,200 2,642 1,558
ORN2Z 20 4,200
405 KHobE SHI 1,150 0 1,150
01 ML =S FH=HI 1,150 0 1,150
O©2XH(12H) 250
oTv(1th) 900
gEs 2y 58,480 47,900 10,580
201 2t | 58,480 47,900 10,580
01 At 2t2lbl 58,480 47,900 10,580
0 . =% Ag 58,080
oYM HFIF PY Y M 400
HRES (SIS (SYHL A/ 5 - S&E) 100,000 100,000 0
TEDE 100,000 100,000 0
YT 4010/X 2HIIS HES 100,000 100,000 0




2A:
X XH -
(==l I

el

=gJ|=d
HWRes(sdlIz=d) (gLt

LIS HHXI =

o
e
o
i

(&4

SA - ZH - ESA(E) - MRAY - BES

Ofl & 24

=1p

pym
JgH

100,000

100,000

OIoIXI €MDz &3

100,000
100,000

100,000




